FOR IMMEDIATE RELEASE: January 12, 2020 **CONTACT:** Mieko Mahi, Hallet Oak Gallery, 361-217-7030 **RE:** Hallet Oak Gallery 2020 Events, Hallettsville, TX

Saturday, February 1

HALLETTSVILLE: Hallet Oak Gallery Beautification Day 8:00 AM – 9:30 AM Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 RSVP 361-217-7030 for details Children's art projects will be inside *Over 15 may pick up trash with adults, must be prepared with proper clothing.* Free and open to public

Every Tuesday, February 4 - 25

HALLETTSVILLE: Michael Windberg Oil Painting Workshops 1:00 PM – 4:00 PM & 5:00 PM – 8:00 PM \$35 Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 www.halletoakgallery.com 361-217-7030

February 4, 2020, First Tuesday of Every Month

HALLETTSVILLE: Friends of Hallettsville Downtown Revitalization (FHDR) 4:30 PM to 6 PM Topic: Friends of the River Committee Meeting Dress: Casual. Refreshments will be served. Cash Bar. El Vaquero Mexican Restaurant, Downtown Hallettsville <u>www.halletoakgallery.com</u> 361-217-7030 Free. Membership not required

Saturday, February 8 Open House Meet the 2020 Artists!

HALLETTSVILLE: Painting, sculpture, photography, collage, mixed media, carvings, drawing, and jewelry artists, include: *Moses Adams, Dianne Appelt, Blanche Cavarretta, Roy Cavarretta, Linda Cejka, Larry Charles, Erica Estrada, Mary Gullette, Debbie Halling, Ken Kopacki, Mieko Mahi, Paula Patterson, Dennis Pesek, James Phillips, Steven Pituch, Georgia Pohl, Phyllis Rivera, Timothy Sadler, Lois Weiss, Michael Windberg, and Bria Woods.*

Refreshments will be served from 2 PM to 4 PM. *Doors open at 11 AM. All artists will be present.* Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 <u>www.halletoakgallery.com</u> 361-217-7030 Free Admission

Every Saturday, February 15 - 29 Doors are open Saturdays for viewing the works of the 2020 Artists

HALLETTSVILLE: Hallet Oak Gallery is now showing the 2020 Artists Exhibit featuring over twenty artists: *Moses Adams, Dianne Appelt, Blanche Cavarretta, Roy Cavarretta, Linda Cejka, Larry Charles, Erica Estrada, Mary Gullette, Debbie Halling, Ken Kopacki, Mieko Mahi, Paula Patterson, Dennis Pesek, James Phillips, Steven Pituch, Georgia Pohl, Phyllis Rivera, Timothy Sadler, Lois Weiss, Michael Windberg, and Bria Woods. Local oil painter artist, Dianne Appelt will be present.* Open hours Saturdays 11:00 AM – 3:00 PM. Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 <u>www.halletoakgallery.com</u> 361-217-7030 Free admission. Adult and children scavenger hunts and Gallery tours are available to visitors.

Friday, February 21

HALLETTSVILLE: Hallet Oak Gallery Seniors Lunch & Music 11:30 – 1 PM Old time mountain music with Carolyn Arrington. Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 <u>www.halletoakgallery.com</u> RSVP for free senior lunch 361-217-7030. Donations appreciated. Walk-ins welcome, bring own lunch.

Every Saturday, March 7 - 28 Doors are open every Saturday to view 2020 Artists Exhibit!

HALLETTSVILLE: There is not an admission fee to enter Gallery. Hallet Oak Foundation, a 501 (3) c nonprofit, operates Hallet Oak Gallery as a place to see and enjoy art. Donations are appreciated. The 2020 Artists include: *Moses Adams, Dianne Appelt, Blanche Cavarretta, Roy Cavarretta, Linda Cejka, Larry Charles, Erica Estrada, Mary Gullette, Debbie Halling, Ken Kopacki, Mieko Mahi, Paula Patterson, Dennis Pesek, James Phillips, Steven Pituch, Georgia Pohl, Phyllis Rivera, Timothy Sadler, Lois Weiss, Michael Windberg, and Bria Woods.*

Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 www.halletoakgallery.com 361-217-7030

Free

Lois Weiss, oil painter, Ken Kopacki, landscape photographer, and Bria Woods, portrait photographer, and Debbie Halling, watercolor and oil painter, will be present in Gallery throughout March.

Every Tuesday, March 3 - 31

HALLETTSVILLE: Michael Windberg Oil Painting Workshops 1:00 PM – 4:00 PM & 5:00 PM – 8:00 PM \$35 Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 www.halletoakgallery.com 361-217-7030

March 3, 2020, First Tuesday of Every Month

HALLETTSVILLE: Friends of Hallettsville Downtown Revitalization (FHDR) Friends of the River Committee Meeting 4:30 PM to 6 PM Dress: Casual. Refreshments will be served. Cash Bar. El Vaquero Mexican Restaurant, Downtown Hallettsville <u>www.halletoakgallery.com</u> 361-217-7030 Free. Membership not required.

Every Saturday, March 14 – 31 2020 Artists Exhibit & More!

HALLETTSVILLE: Ongoing at the Gallery will be a group show featuring the 2020 Artists: *Moses Adams, Dianne Appelt, Blanche Cavarretta, Roy Cavarretta, Linda Cejka, Larry Charles, Erica Estrada, Mary Gullette, Debbie Halling, Ken Kopacki, Mieko Mahi, Paula Patterson, Dennis Pesek, James Phillips, Steven Pituch, Georgia Pohl, Phyllis Rivera, Timothy Sadler, Lois Weiss, Michael Windberg, and Bria Woods.* Gallery tours and scavenger hunts will be available. Open hours are 11:00 AM – 3:00 PM *every* Saturday. Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 <u>www.halletoakgallery.com</u> 361-217-7030 Free admission

Ken Kopacki, landscape photographer, Bria Woods, portrait photographer and Debbie Halling, watercolor and oil painter, will be present in Gallery to greet visitors throughout March.

Thursday, March 19

HALLETTSVILLE: First Day of Spring Chalk Art featuring Local Schools Artworks Open 11:00 AM – 6 PM

The Memorial VFW Auxiliary #6382 Young American Creative Patriotic Art entries and the Houston Livestock & Rodeo Art entries by Hallettsville High School will be on display. Western Art from Grades 2nd – 6th Moulton ISD will be on display. Exhibit ends March 31st. Local artist and instructor Michael Windberg will be judging these school exhibits for Hallet Oak Gallery recognition awards for first, second, third and honorable mention.

Doors open at 11 AM. Live outdoor music begins 4 PM – 6 PM. Space tunnel will be open. Pets welcome.

Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 <u>www.halletoakgallery.com</u> 361-217-7030 Free

Saturday, April 4 - 25 2020 Artists Exhibit Every Saturday 11 AM - 3 PM

HALLETTSVILLE: Painting, sculpture, photography, collage, mixed media, carvings, drawing, and jewelry artists, include: *Moses Adams, Dianne Appelt, Blanche Cavarretta, Roy Cavarretta, Linda Cejka, Larry Charles, Erica Estrada, Mary Gullette, Debbie Halling, Ken Kopacki, Mieko Mahi, Paula Patterson, Dennis Pesek, James Phillips, Steven Pituch, Georgia Pohl, Phyllis Rivera, Timothy Sadler, Lois Weiss, Michael Windberg, and Bria Woods.* Lois Weiss, oil painter, Debbie Halling, oil and watercolor painter, and Bria Woods, portrait photographer will greet visitors in April. Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 <u>www.halletoakgallery.com</u> 361-217-7030 Free

April 7, 2020, First Tuesday of Every Month Friends of the River Committee Meeting

HALLETTSVILLE: Friends of Hallettsville Downtown Revitalization (FHDR) 4:30 PM to 6 PM Dress: Casual. Refreshments will be served. Cash Bar. El Vaquero Mexican Restaurant, Downtown Hallettsville www.halletoakgallery.com 361-217-7030 Free. Membership not required.

Every Tuesday: April 7-28

HALLETTSVILLE: Michael Windberg Oil Painting Workshops 1:00 PM – 4:00 PM & 5:00 PM – 8:00 PM \$35 Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 www.halletoakgallery.com 361-217-7030

Saturday, April 4

HALLETTSVILLE: **Hallet Oak Gallery Beautification Day** 8:00 AM – 9:30 AM Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 RSVP 361-217-7030 for outdoor clothing instructions. Children's projects will be inside. Lois Weiss, oil painter, will be available to greet visitors from 11:00 AM – 3:00 PM. Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 <u>www.halletoakgallery.com</u> 361-217-7030 Free and open to public.

Friday, April 24

HALLETTSVILLE: Hallet Oak Gallery Sip & Paint "Springtime" with Georgia Pohl 7 PM – 9 PM Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 <u>www.halletoakgallery.com</u> 361-217-7030 \$25 RSVP: 361-217-7030 Canvas, acrylic paints and brushes provided.

Friday, May 1

HALLETTSVILLE: Hallet Oak Gallery Seniors Lunch & Music 11:30 AM – 1 PM Old time mountain music with Carolyn Arrington Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 <u>www.halletoakgallery.com</u> RSVP for free senior lunch 361-217-7030. Donations appreciated. Walk-ins welcome, bring own lunch.

Saturday, May 2 - 30 2020 Artists Exhibit Every Saturday 11 AM to 3 PM

HALLETTSVILLE: Hallet Oak Gallery 2020 Artists will display painting, sculpture, photography, collage, mixed media, carvings, drawing, and jewelry. The artists include: *Moses Adams, Dianne Appelt, Blanche Cavarretta, Roy Cavarretta, Linda Cejka, Larry Charles, Erica Estrada, Mary Gullette, Debbie Halling, Ken Kopacki, Mieko Mahi, Paula Patterson, Dennis Pesek, James Phillips, Steven Pituch, Georgia Pohl, Phyllis Rivera, Timothy Sadler, Lois Weiss, Michael Windberg, and Bria Woods.* Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 <u>www.halletoakgallery.com</u> 361-217-7030. Free.

Lois Weiss, oil painter, Mary Gullette, mixed-media and Ken Kopacki, landscape photographer, Michael Windberg, oil painter instructor, and Blanche & Roy Cavarretta, gourd artists will be present throughout May.

May 5, 2020, First Tuesday of Every Month Friends of the River Committee Meeting

HALLETTSVILLE: Friends of Hallettsville Downtown Revitalization (FHDR) 4:30 PM to 6 PM Dress: Casual. Refreshments will be served. Cash Bar. El Vaquero Mexican Restaurant, Downtown Hallettsville <u>www.halletoakgallery.com</u> 361-217-7030 Free. Membership not required.

Every Tuesday, May 5 - 26

HALLETTSVILLE: Michael Windberg Oil Painting Workshops 1:00 PM – 4:00 PM & 5:00 PM – 8:00 PM \$35 Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 www.halletoakgallery.com 361-217-7030

June 2, 2020, First Tuesday of Every Month Friends of the River Committee Meeting

HALLETTSVILLE: Friends of Hallettsville Downtown Revitalization (FHDR)
4:30 PM to 6 PM
Dress: Casual. Refreshments will be served. Cash Bar.
El Vaquero Mexican Restaurant, Downtown Hallettsville
<u>www.halletoakgallery.com</u> 361-217-7030
Free. Membership not required. **Every Tuesday, June 2 - 30**HALLETTSVILLE: Michael Windberg Oil Painting Workshops
1:00 PM - 4:00 PM & 5:00 PM - 8:00 PM \$35
Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964
<u>www.halletoakgallery.com</u> 361-217-7030
Free *Lois Weiss, oil painter, Paula Patterson, acrylic painter and Steven Pituch, oil painter*

and photographer, will be present throughout June

Every Saturday, June 6 - 27 2020 Artists Exhibit 11 AM to 3 PM

HALLETTSVILLE: Painting, sculpture, photography, collage, mixed media, carvings, drawing, and jewelry artists include: *Moses Adams, Dianne Appelt, Blanche Cavarretta, Roy Cavarretta, Linda Cejka, Larry Charles, Erica Estrada, Mary Gullette, Debbie Halling, Ken Kopacki, Mieko Mahi, Paula Patterson, Dennis Pesek, James Phillips, Steven Pituch, Georgia Pohl, Phyllis Rivera, Timothy Sadler, Lois Weiss, Michael Windberg, and Bria Woods.* Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 <u>www.halletoakgallery.com</u> 361-217-7030 Free

Monday - Thursday, June 8 - 11

HALLETTSVILLE: Photo Workshop Partnering with 4 H
"How a Camera Works" - Hands-on training with Mieko Mahi.
9 AM to 4 PM City tours provided.
Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964
www.halletoakgallery.com
\$85 RSVP 361-217-7030

Monday - Friday, June 15 -19

HALLETTSVILLE: Hallet Oak Gallery Summer Camp Session One with Georgia Pohl 9:00 AM – Noon Summer camp for ages 7 to 12. Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 <u>www.halletoakgallery.com</u> 361-217-7030 \$85 RSVP: 361-217-7030 Includes refreshments and art supplies.

Monday - Friday, June 22 -26

HALLETTSVILLE: Hallet Oak Gallery Summer Camp Session Two with Georgia Pohl 9:00 AM – Noon Summer camp for ages 7 to 12. Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 <u>www.halletoakgallery.com</u> 361-217-7030 \$85 RSVP 361-217-7030 Includes refreshments and art supplies.

July 7, 2020, First Tuesday of Every Month Friends of the River Committee Meeting

HALLETTSVILLE: Friends of Hallettsville Downtown Revitalization (FHDR)
4:30 PM to 6 PM
Dress: Casual. Refreshments will be served. Cash Bar.
El Vaquero Mexican Restaurant, Downtown Hallettsville
<u>www.halletoakgallery.com</u> 361-217-7030
Free. Membership not required.

Saturday, July 4 - 25 2020 Artists Exhibit Every Saturday 11 AM - 3 PM

HALLETTSVILLE: Hallet Oak Gallery 2020 Artists Exhibit featuring: Moses Adams, Dianne Appelt, Blanche Cavarretta, Roy Cavarretta, Linda Cejka, Larry Charles, Erica Estrada, Mary Gullette, Debbie Halling, Ken Kopacki, Mieko Mahi, Paula Patterson, Dennis Pesek, James Phillips, Steven Pituch, Georgia Pohl, Phyllis Rivera, Timothy Sadler, Lois Weiss, Michael Windberg, and Bria Woods. Mieko Mahi, industrial photographer, will assist exhibits in June. Hallet Oak Gallery,

115 N. Main St., Hallettsville, TX 77964 <u>www.halletoakgallery.com</u> 361-217-7030 Free

Every Tuesday, July 7 - 28

HALLETTSVILLE: Michael Windberg Oil Painting Workshops 1:00 PM – 4:00 PM & 5:00 PM – 8:00 PM \$35 Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 www.halletoakgallery.com 361-217-7030

Monday - Friday, July 13 - 17

HALLETTSVILLE: Hallet Oak Gallery Summer Camp Session Three with Georgia Pohl 9:00 AM – Noon Summer camp for ages 13 to 15 Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 <u>www.halletoakgallery.com</u> 361-217-7030 \$85 RSVP 361-217-7030 Includes refreshments and art supplies.

Monday - Friday, July 20 - 24

HALLETTSVILLE: Hallet Oak Gallery Summer Camp Session Four with Georgia Pohl 9:00 AM – Noon Summer camp for ages 7 to 12. Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 <u>www.halletoakgallery.com</u> 361-217-7030 \$85 RSVP 361-217-7030 Includes refreshments and art supplies.

Saturday, July 25

HALLETTSVILLE: Hallet Oak Gallery Beautification Day 8:00 AM – 9:30 AM Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 RSVP: 361-217-7030 for outdoor project clothing instructions. Children's projects will be indoors. Free and open to public.

Saturday, August 1

HALLETTSVILLE: Hallet Oak Gallery Lunch & Learn
Michael Windberg oil painting demonstration.
11:30 AM – 1:00 PM
\$15 RSVP 361-217-7030
Dessert and coffee will be served free to public after lunch.
Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964
www.halletoakgallery.com 361-217-7030

Saturday, August 1 - 29 2020 Artists Exhibit Every Saturday 11 AM to 3 PM

HALLETTSVILLE: Hallet Oak Gallery 2020 Exhibit features over twenty artists! Enjoy a Gallery tour of the historic timeline about Hallettsville. Afterwards, take the scavenger hunt challenge and win a prize! No admission Fee. Exhibits include *Moses Adams, Dianne Appelt, Blanche Cavarretta, Roy Cavarretta, Linda Cejka, Larry Charles, Erica Estrada, Mary Gullette, Debbie Halling, Ken Kopacki, Mieko Mahi, Paula Patterson, Dennis Pesek, James Phillips, Steven Pituch, Georgia Pohl, Phyllis Rivera, Timothy Sadler, Lois Weiss, Michael Windberg, and Bria Woods.* Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 <u>www.halletoakgallery.com</u> 361-217-7030 Free

Timothy Sadler, wildlife and landscape photographer, will be present in Gallery throughout August.

Every Tuesday, August 4 - 25

HALLETTSVILLE: Michael Windberg Oil Painting Workshops 1:00 PM – 4:00 PM & 5:00 PM – 8:00 PM \$35 Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 www.halletoakgallery.com 361-217-7030

August 4, 2020, First Tuesday of Every Month Friends of the River Committee Meeting

HALLETTSVILLE: Friends of Hallettsville Downtown Revitalization (FHDR) 4:30 PM to 6 PM Dress: Casual. Refreshments will be served. Cash Bar. El Vaquero Mexican Restaurant, Downtown Hallettsville <u>www.halletoakgallery.com</u> 361-217-7030 Free. Membership not required.

September 1, 2020, Every First Tuesday of Every Month

HALLETTSVILLE: Friends of Hallettsville Downtown Revitalization (FHDR) 4:30 PM to 6 PM El Vaquero Mexican Restaurant Dress: Casual. Complimentary refreshments will be served. Cash bar. <u>www.halletoakgallery.com</u> 361-217-7030 Free. Membership not required.

Every Tuesday, September 1 - 29

HALLETTSVILLE: Michael Windberg Oil Painting Workshops 1:00 PM – 4:00 PM & 5:00 PM – 8:00 PM \$35 Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 www.halletoakgallery.com 361-217-7030

Saturday & Sunday September 5 & 6 Hallet Oak Gallery is showcasing Lavaca County Artists for a Weekend Show!

HALLETTSVILLE: Lavaca County Cultural Arts Exhibit and Celebration! 11 AM – 3 PM A curated open-call international inspired exhibit will be showcased with live cultural music. Best of Show wins \$200 and will be announced at 3PM on Sunday. The deadline to enter this exhibit is August 29 with \$20 per entry. The 2020 Artists Exhibit will also be on display.

Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 www.halletoakgallery.com 361-217-7030

Free

Saturday, September 5 - 26 2020 Artists Exhibit Every Saturday 11 AM -3 PM

HALLETTSVILLE: Hallet Oak Gallery 2020 Exhibit features over twenty artists! Gallery tours and scavenger hunts available. No admission Fee. Exhibits include *Moses Adams, Dianne Appelt, Blanche Cavarretta, Roy Cavarretta, Linda Cejka, Larry Charles, Erica Estrada, Mary Gullette, Debbie Halling, Ken Kopacki, Mieko Mahi, Paula Patterson, Dennis Pesek, James Phillips, Steven Pituch, Georgia Pohl, Phyllis Rivera, Timothy Sadler, Lois Weiss, Michael Windberg, and Bria Woods.*

Steven Pituch, oil painter and photographer, Brea Woods, portrait photographer and Mary Gullette, mixed-media artist will be present in Gallery throughout September. Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 <u>www.halletoakgallery.com</u> 361-217-7030.

Saturday, September 26

HALLETTSVILLE: Pre-Kolache Parade Open-House Party 8 AM – 10 AM Complimentary, juice, coffee and kolaches will be served. Free giveaways for children. Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 <u>www.halletoakgallery.com</u> 361-217-7030 Free

Saturday, October 3

HALLETTSVILLE: Hallet Oak Gallery Beautification Day 8:00 AM – 9:30 AM Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 RSVP 361-217-7030 for outdoor project clothing instructions. Children's projects will be inside. Linda Cejka, jewelry artist, will be present from 11:00 AM to 3:00 PM. Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 www.halletoakgallery.com 361-217-7030 Free and open to public.

October 6, 2020, First Tuesday of Every Month Friends of the River Committee Meeting

HALLETTSVILLE: Friends of Hallettsville Downtown Revitalization (FHDR)
4:30 PM to 6 PM
Dress: Casual. Refreshments will be served. Cash Bar.
El Vaquero Mexican Restaurant, Downtown Hallettsville
<u>www.halletoakgallery.com</u> 361-217-7030
Free. Membership not required.

Every Tuesday, October 6 - 27

HALLETTSVILLE: Michael Windberg Oil Painting Workshops 1:00 PM – 4:00 PM & 5:00 PM – 8:00 PM \$35 Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 www.halletoakgallery.com 361-217-7030

Saturday, October 10

HALLETTSVILLE: 2020 Artists Exhibit – New Works! 2:00 – 4:00 PM 2020 Artists Exhibition includes Moses Adams, Dianne Appelt, Blanche Cavarretta, Roy Cavarretta, Linda Cejka, Larry Charles, Erica Estrada, Mary Gullette, Debbie Halling, Ken Kopacki, Mieko Mahi, Paula Patterson, Dennis Pesek, James Phillips, Steven Pituch, Georgia Pohl, Phyllis Rivera, Timothy Sadler, Lois Weiss, Michael Windberg, and Bria Woods.

Doors open at 11 AM. Raffle winner of the James Phillips wood carving of a horse's head will be announced at 4 PM. PM *Ken Kopacki, landscape photographer will greet visitors.* Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 www.halletoakgallery.com 361-217-7030 Free

Saturday, October 17 - 31 2020 Artists Exhibit – New Works

HALLETTSVILLE: Hallet Oak Gallery 2020 Artists Exhibit – New Works featuring jewelry, sculpture, photography, collage, mixed media, carvings, drawing, and painting by artists: *Moses Adams, Dianne Appelt, Blanche Cavarretta, Roy Cavarretta, Linda Cejka, Larry Charles, Erica Estrada, Mary Gullette, Debbie Halling, Ken Kopacki, Mieko Mahi, Paula Patterson, Dennis Pesek, James Phillips, Steven Pituch, Georgia Pohl, Phyllis Rivera, Timothy Sadler, Lois Weiss, Michael Windberg, and Bria Woods.* Gallery tours and scavenger hunts. No admission Fee. *Linda Cejka, jewelry artist, Len Kopacki, landscape photographer and Blanche and Roy Cavarretta, gourd artists, will be present at Gallery.* Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 www.halletoakgallery.com 361-217-7030 Free

Friday, October 17

HALLETTSVILLE: Deadline for Pumpkin-Contest Drop Off 4:30 PM – 7:00 PM Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 www.halletoakgallery.com 361-217-7030

Saturday, October 17

HALLETTSVILLE: Spooktacular Party & Pumpkin Contest 4:00 PM – 6:00 PM Winners announced at 5:30 PM. Haunted Tunnel will be open. Free. Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 www.halletoakgallery.com 361-217-7030

Saturday, October 31

HALLETTSVILLE: Haunted Tunnel will be open for Halloween! Doors open 5:00 PM – 9:00 PM Family friendly costumes only please. Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 <u>www.halletoakgallery.com</u> 361-217-7030 Free

Every Tuesday, September 1st - 29th

HALLETTSVILLE: Michael Windberg Oil Painting Workshops 1:00 PM – 4:00 PM & 5:00 PM – 8:00 PM \$35 Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 www.halletoakgallery.com 361-217-7030

November 3, 2020, First Tuesday of Every Month Friends of the River Committee Meeting

HALLETTSVILLE: Friends of Hallettsville Downtown Revitalization (FHDR) 4:30 PM to 6:00 PM Dress: Casual. Refreshments will be served. Cash Bar. El Vaquero Mexican Restaurant, Downtown Hallettsville <u>www.halletoakgallery.com</u> 361-217-7030 Free. Membership not required.

Every Tuesday, November 3 - 24

HALLETTSVILLE: Michael Windberg Oil Painting Workshops 1:00 PM – 4:00 PM & 5:00 PM – 8:00 PM \$35 Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 www.halletoakgallery.com 361-217-7030

Saturday, November 7 - 28 2020 Artist Exhibits Every Saturday 11 AM - 3 PM

HALLETTSVILLE: Hallet Oak Gallery 2020 Exhibit is featuring over twenty artists! Gallery tours and scavenger hunts. Exhibiting artists are *Moses Adams, Dianne Appelt, Blanche Cavarretta, Roy Cavarretta, Linda Cejka, Larry Charles, Erica Estrada, Mary Gullette, Debbie Halling, Ken Kopacki, Mieko Mahi, Paula Patterson, Dennis Pesek, James Phillips, Steven Pituch, Georgia Pohl, Phyllis Rivera, Timothy Sadler, Lois Weiss, Michael Windberg, and Bria Woods.* Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 <u>www.halletoakgallery.com</u> 361-217-7030 Free admission

Linda Cejka, jewelry artist, Debbie Halling, watercolor and oil painter, and Steven Pituch, oil painter and photographer, and Bria Woods, portrait photographer will be available to greet visitors in November.

Saturday, November 28

HALLETTSVILLE: Christkindlmarkt, Art Market Doors open 11:00 AM – 5:00 PM Gingerbread House will be open. Christmas Art Market. Live Music: "Das Ist Lustig" 1 – 5 PM *Steven Pituch, oil painter and photographer, will be available to greet visitors.* Free & open to public.

December 1, First Tuesday of Every Month Friends of the River Committee Meeting

HALLETTSVILLE: Friends of Hallettsville Downtown Revitalization (FHDR) 4:30 PM to 6 PM Dress: Casual. Refreshments will be served. Cash Bar. El Vaquero Mexican Restaurant, Downtown Hallettsville <u>www.halletoakgallery.com</u> 361-217-7030 Free. Membership not required.

Every Tuesday, December 1 - 15

HALLETTSVILLE: Michael Windberg Oil Painting Workshops 1:00 PM – 4:00 PM & 5:00 PM – 8:00 PM \$35 Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 www.halletoakgallery.com 361-217-7030

Saturday, December 5

HALLETTSVILLE: Christkindlmarkt, Art Market 11 AM – 5 PM Gingerbread House will be open. Free children's art activities. Art Trees are on display with Hallettsville High School, Ezzell ISD, and Moulton ISD in participation in art contest. All art will be for sale. *Mary Gullette, mixed-media artist, will greet visitors.* Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 <u>www.halletoakgallery.com</u> 361-217-7030 Free & open to public.

Saturday, December 12

HALLETTSVILLE: Christkindlmarkt, Downtown Hallettsville 11 AM – 9 PM Gingerbread House will be open. Christmas Art Market. Paula Patterson, acrylic painter will greet visitors. Hallet Oak Gallery will be participating in Hallettsville Wine Walk. Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964

www.halletoakgallery.com 361-217-7030

Saturday, December 19

HALLETTSVILLE: Christkindlmarkt, Downtown Hallettsville 11 AM – 5 PM Gingerbread House will be open. Christmas Art Market. Mieko Mahi, industrial photographer will greet visitors. Hallet Oak Gallery, 115 N. Main St., Hallettsville, TX 77964 <u>www.halletoakgallery.com</u> 361-217-7030 Free & open to public.

Friday, January 8, 2021

HALLETTSVILLE: Hallet Oak Gallery Auction Item Drop Off 11 AM to 7 PM We appreciate our Gallery Supporters!

Saturday, January 9, 2021

HALLETTSVILLE: Hallet Oak Gallery Fundraiser Gala 6:30 PM – 9 PM Chris Rybak, Cowboy Accordion with Marvin Kremling guitar Catering by Callisto Culinary Silent & Live Auction RSVP: 361- 217-7030 \$65 per dinner ticket or \$120 per couple.

-msm-